Efficiency vs dr

0.8

0.7

0.6

efficiency vs AR

0.5

0.4

0.3

0.2

0.1

! 1 y
» - 1 ICTIr T

L

:I ||E[.b:i]

Ratio
P
N

=

|||!|||!| |-r-|:=|_|_|_p..|_!_|_|_|_|!||||!|||||||||!||||!||||

0.8

-| —=— DQM_v0001_R000000001__Global__mkFit_baseline
—— DQM_V0001_R000000001__Global__mkFit_var

1078 1072

[ Efficiency vs dr (track,jet) |

1
TP min AR

1.2

0.8

0.6

efficiency vs AR(TP, jet

0.4

0.2

Ratio

Efficiency vs pu

1072

1
AR(TP, jét)

-1

0.5

efficiency vs PU
o
D
I

o
w
T

e
N
T e

0.1
0.05]

FEIIE A

035+

.................................................

1.0

Ratio

o
o

2 4 6 8 10 12 14 16 18 20

Pileup



	Contents
	Page 1


